These questions are from Y3 - you should be able to complete a challenge in 5 minutes. If you are finding

some questions tricky - these are the areas that you need to practise.

Arithmetic Challenge 1

Arithmetic Challenge 2

134 + 235 = 64 = 8 = 3 %12 =
56 = 7+= 8x6= 581 - 254 =
3x9= 872 - 135 = 661 + 138 =
565 -233 = 237 + 422 = 33 -3 =
625 + 183 = 48 + 4 = Lx7 =

873 - 260 = 365 + 122 = 27+ 3 =
654 - 332 = 651 + 237 = 32 :4 =

4 x 12 = 485 - 105 = 502 + 394 =

40 = & = 3x7= 253 + 109 =

8x5= 364 - 187 = 16 = 4 =




Arithmetic Challenge 1 Answers

Arithmetic Challenge 2 Answers

873 - 260 = 613

365 + 122 = 487

27=3=9

654 - 332 = 322

651 + 237 = 888

32-4=28

134 + 235 = 369 64 =8=8 3x12 =36
56:7=8 8 x 6 =48 581 - 254 = 327
3x9=27 872 - 135 = 737 661 + 138 = 799
565 - 233 = 332 237 + 422 = 659 33:3=11
625 + 183 = 808 48 < 4 =12 4x7=28

4 %12 =48 485 - 105 = 380 502 + 394 = 896
40 - 4 =10 3x7=2 253 + 109 = 362
8x5=40 364 - 187 = 551 16 =4 =4




